

# Timber sales Tender of standing timber & logs



# Forestry and Land Scotland

# Sale of Timber

Tender of Standing and Roadside Logs

To be opened at FLS Scotland, Head Office On 8<sup>th</sup> September 2021 at 12.00 hours

Sawlogs at Roadside ..15200 m3ub And......25150 Tonnes

Standing Timber......176127 m30BS
Brash Recovery......3245 m30BS

Please note this catalogue is for information only and bids received using the tender form attached will be excluded from the sale.

All bids for this sale must be submitted through the E-sales system.

For information on registering as an E-sales user please contact Marketing and Sales team at 0131 370 5541

# **General Conditions of Sale**

All timber on offer in this sale is covered by Chain of Custody Certificate No FSC: SA-FM/COC-007002 and PEFC: SA-PEFC-FM/COC-007002. These certificates were issued on 12 November 2019 under the QUALIFOR Programme by SGS Forestry.

- 1. The sale of each Lot is subject to the Standard Contract, specimens of which may be obtained from the Chief Executive, Forestry and Land Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB (Telephone: 0131 370 5541). These agreements describe the normal terms of trading; application of these terms, which is at the sole discretion of Forestry and Land Scotland, is subject to the establishment of satisfactory credit worthiness.
- 2. The description of the trees in the Sale Catalogue is believed to be accurate but is not guaranteed except as to the number of trees in tariffed Standing Timber Agreements offered for a lump sum. In all other respects the Purchaser is held as satisfying himself as to the description of the Sale Lots.
- 3. Arrangements to inspect the timber should be made direct with the Forest District staff listed. An address list is on the last page of this catalogue. Site boundaries will be clearly marked in a common manner. External boundary trees will be marked with white tape or marking, i.e. the trees to be left standing after harvesting operation. Purchasers will be deemed to have acquainted themselves with arrangements for access and constraints, if any, in respect of each Lot, details of which are also available from the Forest District.
- 4. Prospective purchasers are advised to consult a copy of the map of timber haulage (preferred) routes on public roads before bidding for the lots where these apply. Copies of all the maps together with a statement of preferred routes are held by the Regional Managers also all local authority Divisional road Surveyors within the Region.
- 5. The commencement and completion dates for all agreements are as indicated against each Lot in the catalogue.
- 6. No Lot carries entitlement to continuity of supplies of timber outside the terms and conditions of the Agreement.
- 7. All bids/offers shall be exclusive of Value Added Tax, which shall be added to the purchaser price of each Lot at the appropriate rate.



#### **Particulars of Sale**

# **Standing Timber**

- 1. Lots are either offered for lump sum bids or bids per tonne as clearly described on the top of each page in this catalogue.
- 2. Lots offered for lump sum bids All volume estimates have been derived from a full Tariff unless otherwise stated. Tariff sheets may be inspected by appointment at the relevant Regional Office. Volumes quoted for such sales in this catalogue are estimates of the volume of the standing trees only. The prospective purchaser shall therefore be deemed to have formed his own estimate of volume and nothing herein or in the said record shall be taken as a representation including a contract or as a condition or warranty forming part of the contract if and where made.
- 3. Purchasers will be deemed to have satisfied themselves as to the occurrence of butt rot and stain and no subsequent allowance or reduction will be made.
- 4. Prospective purchasers are advised to obtain a copy of the Harvesting Site Plan from relevant Regional Managers for each standing sale. These plans detail specific operational requirements for each sale parcel.
- 5. Purchasers will be deemed to be acquainted with the provisions of Forestry and Land Scotland's Forests and Water Guidelines publication and to ensure that they are accorded with in their harvesting operations

# **Logs at Roadside**

- 6. Presentation of sawlogs for sale will be in accordance with the Forestry Commission's Field Book No.9 "Classification and Presentation of Softwood Sawlogs", a copy of which can be obtained on request from the Chief Executive, Forestry and Land Scotland, 1 Highlander Way, Inverness Business Park, Inverness IV2 7GB
- 7. Lots are either offered for a price per cubic metre underbark or for a price per tonne as clearly described on the top of each page in this catalogue.
- 8. Where lots are offered for a price per cubic metre underbark the volume of the timber will be calculated from the weight of loads supplied, converted to volume using volume/weight fixed conversion factors where such agreements currently exist between Forestry and Land Scotland and relevant parties. Successful purchasers that do not have an agreement for fixed conversion factors with Forestry and Land Scotland shall be given the opportunity to adopt the relevant fixed conversion factor(s) based on the national data set within the relevant supplying location. Failing such an agreement being reached, conversion factors shall be calculated from measurements of the

- volume of 1:10 sample loads. The volume of the sample loads will be obtained by the methods described in Field Book 9.
- 9. The average DBH of the standing trees from which the logs will be produced is an estimate only, provided for the guidance of prospective purchasers it is not guaranteed.
- 10. Forestry and Land Scotland (FLS) carefully consider the log specification, including the product range, for sawlogs and roundwood and advertise them for sale at roadside on this basis. In the event of a conditional bid being placed, FLS shall only consider a request to change that specification if it falls within the Minimum Top Diameter, Minimum and Maximum lengths and Average DBH as advertised in the sale catalogue. Any condition outwith this range shall be excluded.
- 11. Conditional bids that do not influence the advertised specification and therefore the value of the sale lot shall of course be considered wherever possible.
- 12. In the event of a conditional bid being accepted, FLS reserve the right to vary the contract volume if the breakout is adversely affected.
- 13. Conditional Bids must be recorded on a Lot by Lot Basis. FLS shall not accept conditional bids condensed into 1 single Lot and covering multiple lots. FLS reserve the right to exclude any conditional bids that are not correctly submitted on a Lot by Lot basis

# **Species Codes and Abbreviations**

-	1
SP	Scots Pine
LP	Lodgepole Pine
СР	Corsican Pine
MP	Mixed Pine
EL	European Larch
ESF	Silver Fir
HL	Hybrid Larch
JL	Japanese Larch
ML	Mixed Larch
NS	Norway Spruce
SS	Sitka Spruce
MS	Mixed Spruce
DF	Douglas fir
GF	Grand fir
NF	Noble fir
WH	Western Hemlock
OMS	Serbian Spruce
MOP	Mountain Pine
LC	Lawson's Cypress
RC	Western Red Cedar
MC	Mixed Conifer
МВ	Mixed Broadleaves
BE	Beech
RON	Nothofagus Obliqua
cm	Centimetres
m³	Cubic Metres
m	Metres
TD	Top Diameter
UB	Underbark
ОВ	Overbark
DBH	Diameter at Breast Height
На	Hectares

# FORESTRY AND LAND SCOTLAND - STAFF LIST

Forestry and Land Scotland Simon Hodgson Chief Executive Great Glen House

Trefor Owen Head of Land Management Leachkin Road

Inverness Mick Bottomley Head of Marketing and Sales IV3 8NW

0131 370 5575 (direct line)

Tel No: 0131 370 5541 Graham Godsman Marketing and Sales Business

Manager 0131 370 5545 (direct line)

# AREA OPERATIONS REGIONS

**North Region** 

Inverness Forest District Office Smithton, Inverness, IV1 2NL

Tel No: 0131 370 5965

Forest Districts within Region North Highland Forest District

Inverness Ross & Skye Forest District

Alex MacLeod

Hazel Maclean Natalie Davies

- Delivery Manager

- Assistant Delivery Manager

- Assistant Delivery Manager

**East Region** 

Ordiquhill, Portsoy Road, Huntly AB54 4SJ

Tel No: 0131 370 5100

01466 - 794161

Forest Districts within Region

Moray & Aberdeenshire Forest District

Tay FD

Alastair Young - Delivery Manager Sean Miller

Dan Cadle

- Assistant Delivery Manager

- Assistant Delivery Manager

**Central Region** 

Cowal & Trossachs Forest District

Office

Aberfoyle, Stirling FK8 3UX

Tel No: 0131 370 5674

Forest Districts within Region

Cowal & Trossachs Forest District Scottish Lowlands Forest District

Matt Young Russell Lamont - Delivery Manager

- Assistant Delivery Manager

West Region

West Argyll Forest District Office

Whitegates, Lochgilphead, PA31 8RS

Tel No: 0131 370 5200

Forest Districts within Region

West Argyll Forest District Lochaber Forest District

James Robins

- Delivery Manager

- Assistant Delivery Manager

**South Region** 

Galloway Forest District Office

Creebridge, Newton Stewart, DG8 6AJ

Tel No: 0131 370 5900

Forest Districts within Region

Galloway Forest District

**Dumfries & Borders Forest District** 

Neil Murray Colin Saunders Sandy White Hugh McKay

- Delivery Manager

- Assistant Delivery Manager - Assistant Delivery Manager

- Assistant Delivery Manager

# Volume Shortfall against 2021 Sales Plan

District	Product	Published Volume	September Tender Volume	Shortfall back on Market
Lochaber	SS	10k m3obs	0	Not yet known but will endeavour to make up shortfall during sale plan year
West Argyll	GL	10K m3	0	Not yet known but will endeavour to make up shortfall during sale plan year
IRS	SS	7.9K M3OBS	0	shortfall provided in N Highland
Cowal and Trossachs	SS	64k m3obs	10.37k m3obs	Volume was presented in May spot sale
Tay	SS	7k m3obs	0	extra volume provided in Moray and Aberdeenshire in April spot sale.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.01	WEST ARGYLL	Clearfell							01/10/21 to	£
	Blackmill Loch	45% windthrow	SS	3686	5363	0.687	27	B6	31/01/22	
			MC	1790	2671	0.670	27	NA		
			SS	1319	1635	0.807	28	B6		Per tonne
	F41137		NS	542	1459	0.371	24	B6		1 of tollio
			JL	332	328	1.012	31	B6	Estimated weight	6541 tonnes
			NS	257	371	0.693	30	B6		
			JL	126	195	0.646	27	B6		
			SS	35	46	0.761	32	B6		
			LP	29	85	0.341	22	B6		
			SS	6	25	0.240	21	B6		
				8122	12178	0.667				

This site will not require Urea Application.

All harvesting & timber removal to be completed by 31 January 2022 due to conservation contraints.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

_		TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
02	WEST ARGYLL	Clearfell							22/09/21 to	£
	Kerran Hill North	40% windthrow	SS	3803	8425	0.451	24	B6	28/02/22	
			SS	1236	2740	0.451	24	NA		
	F41144		SS	966	5682	0.170	17	NA		Per tonne
				6005	16847	0.356			Estimated weigh	t 4843 tonnes

.03	WEST ARGYLL	Clearfell							22/09/21 to	£
	Glen Muril	10% windthrow	SS	10295	17285	0.596	27	B6	31/01/22	
			SS	4101	8330	0.492	26	B6		
			SS	2820	8541	0.330	22	B6		Per tonne
	F41153		SS 2326 11351 0.205 19 B6	i di tomo						
			SS	671	1139	0.589	24	NA	Estimated weigh	nt 16487 tonnes
			LP	222	1126	0.197	19	NA		
				20435	47772	0.428				

This site will require Urea Application.

All harvesting & timber removal to be completed by 31 January 2022 due to conservation constraints.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.04	MORAY, ABERDEENSHIRE	Clearfell							04/10/21 to	£
	Greymare	7% windthrow	SS	2093	1660	1.261	32	B6	28/02/22	
			SS	826	1330	0.621	25	B6		
	_		LP	801	1774	0.452	22	B6		Per tonne
	F40745		LP	465	1744	0.267	26	B6		
			SS	250	2100	0.119	24	B6	Estimated weight 3	3768 tonnes
			LP	118	392	0.301	18	B6		
			LP	59	50	1.180	19	B6		
				4612	9050	0.510				

This site will require Urea application. Covid-19 Guidance. Subject to environmental preop check.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.05	MORAY, ABERDEENSHIRE	Clearfell							04/10/21	£
	Craig Na Gour		JL	3827	6216	0.616	25	B6	to 31/03/22	
			SP	1722	3490	0.493	26	B6		
			NS	1121	1344	0.834	28	B6		Per tonne
	F41014		NS	895	1428	0.627	25	B6		i or tornio
			WH	162	149	1.087	33	B6	Estimated weight 62	272 tonnes
			NS	67	272	0.246	19	B6		
			JL	25	74	0.338	20	B6		
			JL	20	62	0.323	22	B6		
			MB	6	18	0.333	24	B6		
				7845	13053	0.601				

This site will require Urea application. Covid-19 guidance. Subject to environmental Preop.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.06	MORAY, ABERDEENSHIRE	Thinning							04/10/21	£
	Inverury Woods	2% windthrow	SS	1210	13130	0.092	14	NA	to 31/03/22	
	•		SP	738	627	1.177	37	B6		
			SP	724	736	0.984	35	B6		Per tonne
	F41015		SP	410	335	1.224	38	B6		rei toille
			DF	133	130	1.023	33	B6	Estimated weight	3392 tonnes
			NS	114	84	1.357	38	B6		
			ВІ	112	2383	0.047	12	NA		
			DF	110	163	0.675	27	B6		
			SS	77	97	0.794	31	B6		
			SP	63	42	1.500	42	B6		
			DF	57	79	0.722	28	B6		
			SP	57	40	1.425	41	B6		
			NS	49	57	0.860	31	B6		
			SP	28	30	0.933	34	B6		
			NS	20	37	0.541	26	B6		
			SP	20	24	0.833	32	B6		
			MB	11	157	0.070	18	B6		
			DF	8	6	1.333	37	B6		
			BI	7	266	0.026	10	NA		
			DF	6	3	2.000	48	B6		
			DF	4	24	0.167	18	B6		
			DF	4	2	2.000	51	B6		
			WH	3	5	0.600	27	B6		
				3965	18457	0.215				

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### **TENDER FORM FOR STANDING TREES 08 September 2021**

LOT	LOCATION	SALE	Species	Est Vol	Number	Mean	dbh	Tariff	SUPPLY	AMOUNT OFFERED
NO		TVPF	-					Method	PERIOD	(FXCLUDING VAT)
INO		IIPE		m3obs	of Trees	tree size		Welliou	PERIOD	(EXCLUDING VAI)

This site will require Urea application. Covid-19 Guidance. Subject to environmental preop check.

.07	MORAY, ABERDEENSHIRE	Thinning							04/10/21	£
	Capo	1% windthrow	SP	1474	1367	1.078	37	NA	to 28/02/22	
			SP	933	915	1.020	39	NA		
			NS	174	2302	0.076	13	NA		Per tonne
	F41017		SP	58	1053	0.055	12	NA		i di tollilo
			GF	57	650	0.088	14	NA	Estimated weigh	it 2480 tonnes
			GF	40	9	4.444	64	NA		
			LP	26	430	0.060	12	NA		
			BI	16	560	0.029	10	NA		
			ВІ	5	55	0.091	15	NA		
				2783	7341	0.379				

This site will require Urea application. Covid-19 guidance. Subject to environmental preop.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

.08	NORTH HIGHLAND Borgie	Clearfell 50% windthrow								
	Borgie	50% windthrow							30/09/21 to	£
			LP	6405	29686	0.216	20	B6	30/09/22	
			LP	4914	27639	0.178	19	B6		
			LP	2867	10942	0.262	21	B6		Per tonne
	F41044		JL	1569	3087	0.508	27	B6		
				15755	71354	0.221			Estimated weigh	t 13075 tonnes
.09	NORTH HIGHLAND	Clearfell							01/10/21 to	£
.09	NOR I H HIGHLAND	Clearrell								£
	Lael Gardens		GF	2210	1300	1.700	36	NA	31/01/22	
			DF	745	1553	0.480	24	NA		
	F41049		DF	165	27	6.111	75 50	NA		Per tonne
	1 110 10		EL	118	44	2.682	50	NA	Estimate describe	. 0.40.4
			SS	40	73	0.548	24	NA	Estimated weigh	t 2464 tonnes
				3278	2997	1.094				
	GF has some drought crack .PF	figures have been used.c	ourchasers mi	est sotiofy them	nalysa ta com					

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.10	NORTH HIGHLAND	Clearfell							01/10/21	£
	Rogart	20% windthrow	SP	2250	7342	0.306	22	B6	to 08/07/22	
			JL	1739	3379	0.515	24	B6		
			SP	985	2653	0.371	23	B6		Per tonne
	F41053		EL	786	1713	0.459	25	B6		T of tolling
			EL	642	1646	0.390	24	B6	Estimated weight 595	7 tonnes
			JL	343	1052	0.326	21	B6		
			SP	253	1332	0.190	19	B6		
			LP	168	1013	0.166	17	B6		
				7166	20130	0.356				
	This site will require Urea application									
1.11	COWAL AND TROSSACHS	Thinning							27/09/21	£
	Loch Goil		SS	2000	32000	0.063	18	B6	to 28/02/22	
				2000	32000	0.063				
	F38873									Per tonne
	This site will require Urea application								Estimated weight 16 <sup>2</sup>	3 tonnes

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.12	COWAL AND TROSSACHS	Clearfell							20/09/21	£
	Monevechedan		SS	5042	7706	0.654	26	B6	to 31/12/22	
			SS	1544	1805	0.855	29	B6		
			JL	1134	1404	0.808	14			Per tonne
	F40981		WH	400	493	0.812	28	B6		. 5. 155
			JL	183	3276	0.056	12	B6	Estimated weight 6	6667 tonnes
			OK	54	66	0.811	35	B6		
			SS	12	5	2.340	47	B6		
			SS	0	31	0.006	7	B6		
				8369	14786	0.566				

This site will require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.13	SCOTTISH LOWLANDS	Clearfell							27/09/21	£
	Carron	30% windthrow	SS	1351	1743	0.775	30	B6	to 21/01/22	
			NS	1072	918	1.168	35	B6		
			SS	980	498	1.968	43	NA		Per tonne
	F40957		SS	905	1520	0.595	27	B6		i or tornio
			SS	842	428	1.967	43	B6	Estimated weigh	nt 5256 tonnes
			SS	461	1073	0.430	23	B6		
			JL	405	933	0.434	23	B6		
			SS	268	346	0.775	30	NA		
			SS	132	221	0.597	27	NA		
			SS	70	266	0.263	20	B6		
			JL	36	17	2.118	45	B6		
				6522	7963	0.819				

This site will not require Urea application. Low ground pressure haulage routes have not been identified for this lot.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.14	SCOTTISH LOWLANDS	Clearfell							04/10/21 to	£
	Auchineden	10% windthrow	SS	7571	14946	0.507	25	B6	12/08/22	
			SS	6508	16387	0.397	23	B6		
			SS	2948	4567	0.646	27	B6		Per tonne
	F40958		SS	1759	2522	0.697	28	B6		. 6. 166
			SS	663	1388	0.478	25	NA	Estimated weigh	nt 16602 tonnes
			SS	550	1392	0.395	23	NA		
			SS	309	1506	0.205	19	B6		
			JL	305	610	0.500	25	B6		
				20613	43318	0.476				

This site will not require Urea application.Low ground pressure haulage routes have been identified for this lot.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.15	GALLOWAY	Clearfell							01/10/21 to	£
	River Cree	40% windthrow	SS	1077	1912	0.563	24	B6	31/01/22	
			SS	1040	1473	0.706	26	B6		
			SS	134	134	1.003	31	B6		Per tonne
	F41107		LP	96	129	0.747	29	B6		
				2347	3648	0.643			Estimated weight 18	96 tonnes

This site will require Urea application.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### **TENDER FORM FOR STANDING TREES 08 September 2021**

		SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.16	GALLOWAY	Clearfell							01/10/21	£
	White Burn	10% windthrow	SS	11125	10291	1.081	32	B6	to 31/08/22	
			SS	4378	11473	0.382	23	B6		
	_		SS	3285	5100	0.644	27	B6		Per tonne
	F41135		SS	2586	4785	0.540	25	B6		1 0. 1010
			LP	1599	3129	0.511	27	B6	Estimated weight 19	333 tonnes
			SS	637	3388	0.188	18	B6		
			JL	324	439	0.738	28	B6		
				23934	38605	0.620				
	This site will require Urea application.									
1.17	GALLOWAY	Clearfell							01/10/21	£
	Lowran Glen	5% windthrow	SS	1316	1712	0.769	27	B6	to 15/02/22	
			SS	915	9503	0.096	14	B6		
	F41138			2231	11215	0.199				Per tonne
									Estimated weight 17	99 tonnes
	This site will require Urea application.								· ·	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

)T )	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
В	DUMFRIES AND BORDERS	Clearfell							20/09/21 to	£
	Brown Dod	5% windthrow	SS	15328	31240	0.491	24	B6	05/02/23	
			SS	3932	5673	0.693	29	B6		
			SS	3253	5889	0.552	26	B6		Per tonne
	F41054		JL	1776	3625	0.490	26	B6		
			SS	1214	2041	0.595	25	B6	Estimated weight 23969 tonnes	nt 23969 tonnes
			NF	1084	2034	0.533	29	B6		
			JL	919	2235	0.411	23	B6		
			JL	774	1847	0.419	24	B6		
			DF	718	2218	0.324	22	B6		
			JL	632	1505	0.420	25	B6		
			DF	403	1078	0.374	24	B6		
			HL	112	352	0.318	21	B6		
				30145	59737	0.505				

This site will require Urea application. SPHN expected on part of coupe - felling SPHN area to be priority.

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

LOT NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.19	COWAL AND TROSSACHS	Clearfell							20/09/21	£
	Badivow Brash		MS	1500	3000	0.500	35	B6	to 31/03/22	
				1500	3000	0.500				
	F41065									Per tonne
	This is a brash recovery lot. The C	oupe was felled betwee	en March and	June 2021.					Estimated weight	1220 tonnes
1.20	SCOTTISH LOWLANDS	Clearfell							04/10/21	£
	Cardenden Brash	2% windthrow	SS	620	1170	0.530	28	NA	to 24/12/21	
				620	1170	0.530				
	F41184									Per tonne
	This is a brash recovery lot. The Coupe was felled between March 2021 and April 2021.								Estimated weight	500 tonnes
	·	·								

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR STANDING TREES 08 September 2021

NO	LOCATION	SALE TYPE	Species	Est Vol m3obs	Number of Trees	Mean tree size	dbh	Tariff Method	SUPPLY PERIOD	AMOUNT OFFERED (EXCLUDING VAT)
1.21	DUMFRIES AND BORDERS	Clearfell							20/09/21	£
	Scab Cleugh Brash		SS	500	6000	0.083	29	NA	to 30/11/21	
				500	6000	0.083				
	F41128									Per tonne
	This is a brash recovery lot. Harves maximise recovery. UG powerlines		t in winter 19/20	. Handcutting re	quired to				Estimated weigh	nt 403 tonnes
1.22	DUMFRIES AND BORDERS	Clearfell							13/09/21	£
1.22	DUMFRIES AND BORDERS  Yellow Mire Brash	Clearfell	SS	625	100	6.250	1	B6	13/09/21 to 31/12/21	£
1.22		Clearfell	SS	625	100	6.250	1	B6	to	
1.22		Clearfell	SS				1	B6	to	£  Per tonne
1.22	Yellow Mire Brash	Clearfell	SS				1	B6	to	Per tonne

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPT	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.01	MORAY, ABERDEENSHIRE	16 cm	700 M3UB Roadside	3.7 - 4.9 m 33	08/11/21 to 27/12/21	£
	Torrieston	SP	Green Logs			Per m3UB
	F41179					
2.02	TAY	16 cm	3500 M3UB Roadside	4.9 - 5.0 m 40	15/09/21 to 31/03/22	£
	Errochty	ss	Red Logs(60%Green)			Per m3UB
	F41173			This is a Green log parcel w	ith a 40% Red log element.	
2.03	INVERNESS,ROSS, SKYE	16 cm	400 M3UB Roadside	3.4 - 3.7 m 33	01/11/21 to 31/01/22	£
	Butterfly Gate	JL	Red Logs(20%Green)			Per m3UB
	F41189			This is a Red log element wi	th a 20% Green log element.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPTI	ON		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.04	INVERNESS,ROSS, SKYE	16 cm	600 M3UB Roadside	3.1 - 3.7 m 30	01/11/21 to 31/01/22	£
	Butterfly Gate	SP	Red Logs(20%Green)			Per m3UB
	F41190			This is a Red log parcel with	a 20% Green log element.	
2.05	INVERNESS,ROSS, SKYE	16 cm	350 M3UB Roadside	3.7 - 3.7 m 35	01/11/21 to 31/01/22	£
	Butterfly Gate	SS	Red Logs(30%Green)			Per m3UB
	F41191			This is a Red log parcel with lot consists of 3.7m lengths of	a 30% Green log element. This only.	
2.06	COWAL AND TROSSACHS	16 cm	2000 M3UB Roadside	3.7 - 4.9 m 35	20/09/21 to 31/03/22	£
	Letter	MS	Red Logs(80%Green)			Per m3UB
	F41061			This is a Green log parcel wi	ith a 20% Red Log element.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIP	TION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.07	COWAL AND TROSSACHS	16 cm	2000 M3UB Roadside	4.9 - 4.9 m 30	20/09/21 to 24/12/21	£
	Arrochar	MS	Red Logs(80%Green)			Per m3UB
	F41063			This is a Green log parcel w Material was felled in June 2		
2.08	GALLOWAY	16 cm	1000 M3UB Roadside	4.8 - 4.9 m 26	13/09/21 to 31/12/21	£
	Slogarie Hill	SS	Red Logs(70%Green)			Per m3UB
	F41082			This is a Green log parcel w	ith a 30% Red log element.	
2.09	DUMFRIES AND BORDERS	16 cm	1000 M3UB Roadside	4.9 - 4.9 m 25	13/09/21 to 31/12/21	£
	Tates Bog	SS	Red Logs(65%Green)			Per m3UB
	F41160			This is a Green log parcel w	ith 35% Red Log element.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

MOUNT OFFERED EXCLUDING VAT)
£
Per m3UB
£
Per m3UB
£
Per m3UB

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRIF	PTION		
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.13	COWAL AND TROSSACHS	14 cm	500 Tonnes Roadside	2.5 - 3.1 m 25	20/09/21 to 31/03/22	£
	Letter	MS	Pallet			Per tonne
	F41060			Low ground pressure Timber access site.	r Wagons will be required to	
2.14	COWAL AND TROSSACHS	14 cm	250 M3UB Roadside	2.5 - 2.5 m 20	20/09/21 to 25/10/21	£
	Badivow	MS	Short Green A			Per m3UB
	F41059			Material was felled June 202	1.	
2.15	GALLOWAY	14 cm	500 M3UB Roadside	2.5 - 3.1 m 26	13/09/21 to 31/12/21	£
	Slogarie Hill	ss	Short Green A			Per m3UB
	F41087					

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPT	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.16	DUMFRIES AND BORDERS	14 cm	500 M3UB Roadside	2.5 - 3.1 m 22	13/09/21 to 31/12/21	£
	Hen Grain	ss	Short Green A			Per m3UB
	F41162			Customer to choose materia	l length range.	
2.17	DUMFRIES AND BORDERS	14 cm	1000 M3UB Roadside	1.9 - 3.1 m 22	13/09/21 to 31/12/21	£
	Tates Bog	SS	Short Green A			Per m3UB
	F41165			Customer to choose materia	l length range.	
2.18	MORAY, ABERDEENSHIRE	18 cm	1000 Tonnes Roadside	2.5 - 6.2 m 51	04/10/21 to 29/11/21	£
	Ferntaggen	MS	Other Logs			Per tonne
	F41178			Green log percentage is app of large diameter butts.	roximately 50%. High proportion	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

LOCATION		LOG DESCRIP			
	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
MORAY, ABERDEENSHIRE	18 cm	250 Tonnes Roadside	2.5 - 6.2 m 40	25/10/21 to 29/11/21	£
Trochelhill	MS	Other Logs			Per tonne
F41180			Green log percentage is app of large diameter butts.	roximately 50%. High proportion	
COWAL AND TROSSACHS	30 cm	600 Tonnes Roadside	4.9 - 4.9 m 50	20/09/21 to 31/03/22	£
Letter	MS	Other Logs			Per tonne
F41062			Green log percentage is app	proximately 80%	
COWAL AND TROSSACHS	30 cm	300 Tonnes Roadside	4.9 - 4.9 m 35	20/09/21 to 24/12/21	£
Arrochar	MS	Other Logs			Per tonne
F41064			Green log percentage is app	proximately 80%	
	MORAY, ABERDEENSHIRE Trochelhill F41180  COWAL AND TROSSACHS Letter F41062  COWAL AND TROSSACHS Arrochar	DIAMETER UB AND SPECIES  MORAY, ABERDEENSHIRE  Trochelhill F41180  COWAL AND TROSSACHS Letter F41062  COWAL AND TROSSACHS Arrochar  MS  MS	LOCATION  MINIMUM TOP DIAMETER UB AND SPECIES  MORAY, ABERDEENSHIRE Trochelhill F41180  18 cm CLASSIFICATION  Of SALE AND CLASSIFICATION  Other Logs  Other Logs  COWAL AND TROSSACHS HS Arrochar  Arrochar  MINIMUM TOP DIAMETER UB AND SPECIES  CLASSIFICATION  CLASSIFICATION  Other Logs  Other Logs  Other Logs  Other Logs  Other Logs  Other Logs  Other Logs	MINIMUM TOP DIAMETER UB AND SPECIES   QUANTITY, POINT OF SALE AND CLASSIFICATION   LENGTH SPECIFIED   MEAN DBH (CM)    MORAY, ABERDEENSHIRE Trochelhill   MS	LOCATION    MINIMUM TOP DIAMETER UB AND SPECIES   QUANTITY, POINT OF SALE AND CLASSIFICATION   LENGTH SPECIFIED   MEAN DBH (CM)   COMPLETION DATE

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRIP	TION	COMMENCEMENT AND COMPLETION DATE	
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED STAND DBH (CM)		AMOUNT OFFERED (EXCLUDING VAT)
2.22	COWAL AND TROSSACHS	30 cm	250 Tonnes Roadside	4.9 - 4.9 m 35	20/09/21 to 24/12/21	£
	Hoish	MS	Other Logs			Per tonne
	F41091			Green log percentage is app Summer 2021. Collect from	roximately 80%. Material felled Hoish Stackyard.	
2.23	GALLOWAY	30 cm	600 Tonnes Roadside	4.8 - 4.9 m 26	13/09/21 to 31/12/21	£
	Slogarie Hill	SS	Other Logs			Per tonne
	F41083			Green log percentage is app	proximately 80%	
2.24	GALLOWAY	30 cm	500 Tonnes Roadside	4.8 - 4.9 m 28	13/09/21 to 31/12/21	£
	Peal Hill	SS	Other Logs			Per tonne
	F41084			Green log percentage is app	proximately 70%	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPT	ION	COMMENCEMENT AND COMPLETION DATE	
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)		AMOUNT OFFERED (EXCLUDING VAT)
2.25	GALLOWAY	30 cm	400 Tonnes Roadside	4.8 - 4.9 m 28	13/09/21 to 31/12/21	£
	Loch Chesney F41085	SS	Other Logs			Per tonne
2.26	DUMFRIES AND BORDERS  Windylaw Sike - Craik	30 cm	500 Tonnes Roadside Other Logs	4.9 - 4.9 m 31	15/09/21 to 31/12/21	£ Per tonne
	F41152			Green log percentage is app	roximately 60%	
2.27	MORAY, ABERDEENSHIRE	7 cm	200 Tonnes Roadside	2.9 - 3.1 m 14	29/09/21 to 28/02/22	£
	Cumrie	MC	Chipwood			Per tonne
	F41157			Note, max diameter for this I	ot is 40cm	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRIF	PTION		
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.28	MORAY, ABERDEENSHIRE	7 cm	1200 Tonnes Roadside	2.9 - 3.1 m 39	13/09/21 to 31/12/21	£
	Longfold F41159	MC	Chipwood			Per tonne
2.29	MORAY, ABERDEENSHIRE Lochan F41168	7 cm	1000 Tonnes Roadside Chipwood	3.0 - 3.1 m 27	13/09/21 to 31/12/21	£ Per tonne
2.30	INVERNESS,ROSS, SKYE  Butterfly Gate  F41192	7 cm	1600 Tonnes Roadside Chipwood	2.9 - 3.1 m 30  A minimum of 8 loads to be	01/11/21 to 31/01/22 uplifted per week.	£ Per tonne

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRIPTI	ON		
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.31	LOCHABER	7 cm	1000 Tonnes Delivered	3.0 - 3.0 m 16	20/09/21 to 31/03/22	£
	Tom Mor F41182	SS	Chipwood			Per tonne
2.32	GALLOWAY  Double Strand 1  F41141	MC	500 Tonnes Roadside Chipwood	2.9 - 3.0 m 24  Please note large diameter of	13/09/21 to 31/12/21 chip (40cm MTD)	£ Per tonne
2.33	GALLOWAY  Dunkirk  F41142	7 cm MC	800 Tonnes Roadside Chipwood	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£ Per tonne

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRIP	TION		
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.34	GALLOWAY	7 cm	800 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
	Knocknevis F41143	ss	Chipwood			Per tonne
2.35	GALLOWAY	40 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
2.33	Loch Chesney	SS	Chipwood	2.9 - 3.0 111 24	13/09/21 10/31/12/21	Per tonne
	F41145			Please note large diameter	chip (40cm MTD)	
2.36	GALLOWAY	7 cm	1000 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
	Loch Chesney	ss	Chipwood			Per tonne
	F41146					

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRIP	TION		
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.37	GALLOWAY	40 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
	Pullhowan Burn	МС	Chipwood			Per tonne
	F41148			Please note large diameter	chip (40cm MTD)	
2.38	GALLOWAY	7 cm	1000 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
	Saugh Burn	SS	Chipwood			Per tonne
	F41149					
2.39	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 22	13/09/21 to 31/12/21	£
	Hen Grain	SS	Chipwood			Per tonne
	F41161			This lot comprises of approx	x 20% deadwood.	
	I	ı		I		ı

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPT	ION	
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND COMMENCEMENT AND COMPLETION DATE DBH (CM)	AMOUNT OFFERED (EXCLUDING VAT)
2.40	DUMFRIES AND BORDERS	7 cm	1000 Tonnes Roadside	3.0 - 3.0 m 24 13/09/21 to 31/12/21	£
	Tates Bog	SS	Chipwood		Per tonne
	F41164			This lot comprises of approx 10% deadwood.	
2.41	WEST ARGYLL	7 cm	500 Tonnes Roadside	3.0 - 3.1 m 24 20/09/21 to 31/12/21	£
	Rathaid, Inverneil	МС	Woodfuel		Per tonne
	F41193			This lot comprises approx 80% deadwood.	
2.42	WEST ARGYLL	7 cm	1000 Tonnes Roadside	2.5 - 4.9 m 27 20/09/21 to 28/02/22	£
	Corr Bheinn, Eredine	МС	Woodfuel		Per tonne
	F41194			This lot comprises approx 75% deadwood. Mixed lengths.	
	I	I	1	I	ı

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

	LOCATION		LOG DESCRI			
LOT NO		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.43	WEST ARGYLL	7 cm	800 Tonnes Roadside	3.0 - 3.1 m 22	20/09/21 to 31/03/22	£
	Inverliever	МС	Woodfuel			Per tonne
	F41195			This lot comprises approx 5	0% deadwood	
2.44	WEST ARGYLL	7 cm	400 Tonnes Roadside	3.0 - 3.1 m 27	20/09/21 to 31/01/22	£
	Cruach Narrachan, Loch Avich	МС	Woodfuel			Per tonne
	F41196			This lot comprises approx 7	0% deadwood	
2.45	MORAY, ABERDEENSHIRE	25 cm	1000 Tonnes Roadside	2.9 - 3.1 m 38	29/09/21 to 28/02/22	£
	Bin	МС	Woodfuel			Per tonne
	F41154			This lot comprises approx. 2 for this lot is 90cm.	20% deadwood. Note max diameter	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPTI	ION		
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.46	MORAY, ABERDEENSHIRE	25 cm	300 Tonnes Roadside	2.9 - 3.1 m 36	29/09/21 to 28/02/22	£
	Auchindinnie	мс	Woodfuel			Per tonne
	F41155			This lot comprises approx. 1 for this lot is 90cm	5% deadwood. Note max diameter	
2.47	MORAY, ABERDEENSHIRE	25 cm	600 Tonnes Roadside	2.9 - 3.1 m 32	29/09/21 to 28/02/22	£
	The Reesk	мс	Woodfuel			Per tonne
	F41156			This lot comprises approx. 2 for this lot is 70cm	0% deadwood. Note max diameter	
2.48	MORAY, ABERDEENSHIRE	7 cm	250 Tonnes Roadside	3.0 - 3.1 m 27	13/09/21 to 31/12/21	£
	Lochan	МС	Woodfuel			Per tonne
	F41177			This lot comprises of approx	imately 5% deadwood.	

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

		LOG DESCRIPTION				
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED MEAN DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.49	INVERNESS,ROSS, SKYE	10 cm	300 Tonnes Roadside	3.0 - 3.4 m 26	13/09/21 to 31/12/21	£
	Mt High	MC	Woodfuel			Per tonne
	F41139			This lot comprises approx 10% deadwood. Consists of mainly 3.4m lengths (70%).		
2.50	INVERNESS,ROSS, SKYE	12 cm	100 Tonnes Roadside	2.8 - 4.9 m 28	12/09/21 to 31/12/21	£
	Belton	MC	Woodfuel			Per tonne
	F41158			This lot comprises approx 5% deadwood		
2.51	INVERNESS,ROSS, SKYE	7 cm	100 Tonnes Roadside	2.8 - 3.4 m 26	13/09/21 to 30/11/21	£
	Shantullich	МС	Woodfuel			Per tonne
	F41166			This lot comprises approx 10% deadwood		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

			LOG DESCRIPTION			
LOT NO	LOCATION	MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.52	INVERNESS,ROSS, SKYE	7 cm	200 Tonnes Roadside	2.9 - 4.9 m 50	15/09/21 to 15/11/21	£
	Buntait	МС	Woodfuel			Per tonne
	F41197			This lot comprises approx 1 Consists of 120 tonne of 3m length.		
2.53	LOCHABER	7 cm	300 Tonnes Roadside	3.0 - 4.9 m 20	20/09/21 to 31/03/22	£
	Lochaline	мс	Woodfuel			Per tonne
	F41186			This lot comprises approx 100% deadwood.		
2.54	LOCHABER	7 cm	300 Tonnes Roadside	3.0 - 6.2 m 26	20/09/21 to 31/03/22	£
	Barr	MC	Woodfuel			Per tonne
	F41188			This lot comprises approx 100% deadwood		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.

#### TENDER FORM FOR SAWLOG: 08 September 2021

LOT NO	LOCATION	LOG DESCRIPTION				
		MINIMUM TOP DIAMETER UB AND SPECIES	QUANTITY, POINT OF SALE AND CLASSIFICATION	LENGTH STAND SPECIFIED DBH (CM)	COMMENCEMENT AND COMPLETION DATE	AMOUNT OFFERED (EXCLUDING VAT)
2.55	GALLOWAY	7 cm	500 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
	Craigdistant	МС	Woodfuel			Per tonne
	F41140			This lot comprises of approx 30% deadwood.		
2.56	GALLOWAY	40 cm	1500 Tonnes Roadside	2.9 - 3.0 m 24	13/09/21 to 31/12/21	£
	Palfern Burn	МС	Woodfuel			Per tonne
	F41147			This lot comprises of approx 40% deadwood. Note, max diameter for this lot is 40cm. O/S WF.		

All bids must be made via Forestry and Land Scotland's online e-sales system (https://esales.forestry.scot) as detailed in the general conditions of sale at the front of this catalogue. In the event that Forestry and Land Scotland's systems are unavailable for a significant period of time in advance of the sale, we will notify registered e-sales users of the position by email, or by a message on the sales website. Those wishing to make a bid are responsible for making their own adequate connection to the internet.